Axon Enterprise, Inc.

Protect Life.

17800 N 85th St. Scottsdale, Arizona 85255 United States Phone: (800) 978-2737

Fax: (480) 658-0673

Matthew Freese (707) 942-2810 mfreese@ci.calistoga.ca.us



Quotation

Quote: Q-143626-5 Date: 1/3/2018 3:21 PM

Quote Expiration: 1/15/2018

Contract Start Date*: 11/15/2017 Contract Term: 5 years

AX Account Number:

155083

Bill To: Calistoga Police Dept. - CA 1235 Washington Street Calistoga, CA 94515 US Ship To: Matthew Freese Calistoga Police Dept. - CA 1235 Washington Street Calistoga, CA 94515 US

SALESPERSON	PHONE	EMAIL	DELIVERY METHOD	PAYMENT METHOD
Kyle Panasewicz	(480) 905-2071	kylep@axon.com	Fedex - Ground	Net 30

^{*}Note this will vary based on the shipment date of the product.

Y	e	ar	

D	NT -	20
Due	ivei	.5()

QTY	ITEM #	DESCRIPTION	UNIT PRICE	TOTAL BEFORE DISCOUNT	DISCOUNT (\$)	NET TOTAL
11	74001	AXON CAMERA ASSEMBLY, ONLINE, AXON BODY 2, BLK	USD 399.00	USD 4,389.00	USD 4,389.00	USD 0.00
11	74018	Z-BRACKET MOUNT, MENS, AXON RAPIDLOCK	USD 0.00	USD 0.00	USD 0.00	USD 0.00
11	74021	MAGNET MOUNT, THICK OUTERWEAR, AXON RAPIDLOCK	USD 0.00	USD 0.00	USD 0.00	USD 0.00
11	11509	BELT CLIP, RAPIDLOCK	USD 0.00	USD 0.00	USD 0.00	USD 0.00
11	11553	SYNC CABLE, USB A TO 2.5MM	USD 0.00	USD 0.00	USD 0.00	USD 0.00
2	70033	WALL MOUNT BRACKET, ASSY, EVIDENCE.COM DOCK	USD 35.00	USD 70.00	USD 70.00	USD 0.00
2	74008	AXON DOCK, 6 BAY + CORE, AXON BODY 2	USD 1,495.00	USD 2,990.00	USD 2,990.00	USD 0.00
2	87026	TASER ASSURANCE PLAN DOCK 2 ANNUAL PAYMENT	USD 216.00	USD 432.00	USD 0.00	USD 432.00
10	80012	BASIC EVIDENCE.COM LICENSE: YEAR 1 PAYMENT	USD 180.00	USD 1,800.00	USD 0.00	USD 1,800.00
100	85110	EVIDENCE.COM INCLUDED STORAGE	USD 0.00	USD 0.00	USD 0.00	USD 0.00

QTY	ITEM #	DESCRIPTION	UNIT PRICE	TOTAL BEFORE DISCOUNT	DISCOUNT (\$)	NET TOTAL
3	80022	PRO EVIDENCE.COM LICENSE: YEAR 1 PAYMENT	USD 468.00	USD 1,404.00	USD 0.00	USD 1,404.00
90	85110	EVIDENCE.COM INCLUDED STORAGE	USD 0.00	USD 0.00	USD 0.00	USD 0.00
2,750	85035	EVIDENCE.COM STORAGE	USD 0.75	USD 2,062.50	USD 0.00	USD 2,062.50
11	85070	TASER ASSURANCE PLAN ANNUAL PAYMENT, BODYCAM	USD 204.00	USD 2,244.00	USD 0.00	USD 2,244.00
				Year 1 T	otal Before Discounts:	USD 15,391.50

Year 1 Discount:

USD 7,449.00

Year 1 Net Amount Due:

USD 7,942.50

TAP Spare

QTY	ITEM #	DESCRIPTION	UNIT PRICE	TOTAL BEFORE DISCOUNT	DISCOUNT (\$)	NET TOTAL
1	74001	AXON CAMERA ASSEMBLY, ONLINE, AXON BODY 2, BLK	USD 0.00	USD 0.00	USD 0.00	USD 0.00
1	74018	Z-BRACKET MOUNT, MENS, AXON RAPIDLOCK	USD 0.00	USD 0.00	USD 0.00	USD 0.00
1	74021	MAGNET MOUNT, THICK OUTERWEAR, AXON RAPIDLOCK	USD 0.00	USD 0.00	USD 0.00	USD 0.00
1	11509	BELT CLIP, RAPIDLOCK	USD 0.00	USD 0.00	USD 0.00	USD 0.00
1	11553	SYNC CABLE, USB A TO 2.5MM	USD 0.00	USD 0.00	USD 0.00	USD 0.00
	TAP Spare Total Refore Discounts:					

TAP Spare Total Before Discounts:

USD 0.00

USD 0.00

TAP Spare Net Amount Due:

Year 2

QTY	ITEM #	DESCRIPTION	UNIT PRICE	TOTAL BEFORE DISCOUNT	DISCOUNT (\$)	NET TOTAL
2	87026	TASER ASSURANCE PLAN DOCK 2 ANNUAL PAYMENT	USD 216.00	USD 432.00	USD 0.00	USD 432.00
10	80013	BASIC EVIDENCE.COM LICENSE: YEAR 2 PAYMENT	USD 180.00	USD 1,800.00	USD 0.00	USD 1,800.00
100	85110	EVIDENCE.COM INCLUDED STORAGE	USD 0.00	USD 0.00	USD 0.00	USD 0.00
3	80023	PRO EVIDENCE.COM LICENSE: YEAR 2 PAYMENT	USD 468.00	USD 1,404.00	USD 0.00	USD 1,404.00
90	85110	EVIDENCE.COM INCLUDED STORAGE	USD 0.00	USD 0.00	USD 0.00	USD 0.00
2,750	85035	EVIDENCE.COM STORAGE	USD 0.75	USD 2,062.50	USD 0.00	USD 2,062.50
11	85070	TASER ASSURANCE PLAN ANNUAL PAYMENT, BODYCAM	USD 204.00	USD 2,244.00	USD 0.00	USD 2,244.00
	Year 2 Total Before Discounts: USD 7,94					USD 7,942.50

Year 2 Net Amount Due:

USD 7,942.50

Year 3

QTY	ITEM #	DESCRIPTION	UNIT PRICE	TOTAL BEFORE DISCOUNT	DISCOUNT (\$)	NET TOTAL
2	87026	TASER ASSURANCE PLAN DOCK 2 ANNUAL PAYMENT	USD 216.00	USD 432.00	USD 0.00	USD 432.00
10	80014	BASIC EVIDENCE.COM LICENSE: YEAR 3 PAYMENT	USD 180.00	USD 1,800.00	USD 0.00	USD 1,800.00

QTY	ITEM #	DESCRIPTION	UNIT PRICE	TOTAL BEFORE DISCOUNT	DISCOUNT (\$)	NET TOTAL
100	85110	EVIDENCE.COM INCLUDED STORAGE	USD 0.00	USD 0.00	USD 0.00	USD 0.00
3	80024	PRO EVIDENCE.COM LICENSE: YEAR 3 PAYMENT	USD 468.00	USD 1,404.00	USD 0.00	USD 1,404.00
90	85110	EVIDENCE.COM INCLUDED STORAGE	USD 0.00	USD 0.00	USD 0.00	USD 0.00
2,750	85035	EVIDENCE.COM STORAGE	USD 0.75	USD 2,062.50	USD 0.00	USD 2,062.50
11	85070	TASER ASSURANCE PLAN ANNUAL PAYMENT, BODYCAM	USD 204.00	USD 2,244.00	USD 0.00	USD 2,244.00
				Year 3 T	otal Before Discounts:	USD 7,942.50
				Ye	ar 3 Net Amount Due:	USD 7,942.50

Year 4

QTY	ITEM #	DESCRIPTION	UNIT PRICE	TOTAL BEFORE DISCOUNT	DISCOUNT (\$)	NET TOTAL
2	87026	TASER ASSURANCE PLAN DOCK 2 ANNUAL PAYMENT	USD 216.00	USD 432.00	USD 0.00	USD 432.00
10	80015	BASIC EVIDENCE.COM LICENSE: YEAR 4 PAYMENT	USD 180.00	USD 1,800.00	USD 0.00	USD 1,800.00
100	85110	EVIDENCE.COM INCLUDED STORAGE	USD 0.00	USD 0.00	USD 0.00	USD 0.00
3	80025	PRO EVIDENCE.COM LICENSE: YEAR 4 PAYMENT	USD 468.00	USD 1,404.00	USD 0.00	USD 1,404.00
90	85110	EVIDENCE.COM INCLUDED STORAGE	USD 0.00	USD 0.00	USD 0.00	USD 0.00
2,750	85035	EVIDENCE.COM STORAGE	USD 0.75	USD 2,062.50	USD 0.00	USD 2,062.50
11	85070	TASER ASSURANCE PLAN ANNUAL PAYMENT, BODYCAM	USD 204.00	USD 2,244.00	USD 0.00	USD 2,244.00
				Year 4 T	otal Before Discounts:	USD 7,942.50
				Ye	ar 4 Net Amount Due:	USD 7,942.50

Year 5

QTY	ITEM #	DESCRIPTION	UNIT PRICE	TOTAL BEFORE DISCOUNT	DISCOUNT (\$)	NET TOTAL
2	87026	TASER ASSURANCE PLAN DOCK 2 ANNUAL PAYMENT	USD 216.00	USD 432.00	USD 0.00	USD 432.00
10	80016	BASIC EVIDENCE.COM LICENSE: YEAR 5 PAYMENT	USD 180.00	USD 1,800.00	USD 0.00	USD 1,800.00
100	85110	EVIDENCE.COM INCLUDED STORAGE	USD 0.00	USD 0.00	USD 0.00	USD 0.00
3	80026	PRO EVIDENCE.COM LICENSE: YEAR 5 PAYMENT	USD 468.00	USD 1,404.00	USD 0.00	USD 1,404.00
90	85110	EVIDENCE.COM INCLUDED STORAGE	USD 0.00	USD 0.00	USD 0.00	USD 0.00
2,750	85035	EVIDENCE.COM STORAGE	USD 0.75	USD 2,062.50	USD 0.00	USD 2,062.50
11	85070	TASER ASSURANCE PLAN ANNUAL PAYMENT, BODYCAM	USD 204.00	USD 2,244.00	USD 0.00	USD 2,244.00
	Year 5 Total Before Discounts: USD 7,9					USD 7,942.50

Year 5 Net Amount Due: USD 7,942.50

Subtotal USD 39,712.50 Estimated Shipping & Handling Cost USD 12.96

Estimated Tax	USD 1,036.95
Grand Total	USD 40,762.41

Hardware Shipping Estimate

Typically, hardware shipment occurs between 4 - 6 weeks after purchase date. Product availability for new or high demand products may impact delivery time.

Axon Enterprise, Inc.'s Sales Terms and Conditions for Direct Sales to End User Purchasers

By signing this Quote, you are entering into a contract and you certify that you have read and agree to the provisions set forth in this Quote and Axon's Master Services and Purchasing Agreement posted at https://www.axon.com/egal/sa/es-terms-and-conditions. You represent that you are lawfully able to enter into contracts and if you are entering into this agreement for an entity, such as the company, municipality, or government agency you work for, you represent to Axon that you have legal authority to bind that entity. If you do not have this authority, do not sign this Quote.

Signature:		Date:		
Name (Print):		Title:		
PO# (if needed):		-		
	Quote: Q	-143626-5		

Please sign and email to Kyle Panasewicz at kylep@axon.com or fax to (480) 658-0673

THANK YOU FOR YOUR BUSINESS!

'Protect Life'© and TASER® are registered trademarks of Axon Enterprise, Inc, registered in the U.S. © 2013 Axon Enterprise, Inc. All rights reserved.